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1) Grubbs 2nd cat, DCM, reflux, 45 min,

Q then BHz*Me,S, THF, 0 °C, 3 h
P then NaBOg4H,0, 31%
/ \\O 2) BnBr, Ag,0, DCM, t, 20 h

A

O O >
A : 3) Me,Zn, CUCNe2LICl, THF, =30 °Ctort, 3 h
| \ then Red-Al, THF,0°Ctort, 12 h, 78% Cy5H39BO05

4) MeO_ _OMe
><_ ,PPTS,DCM, rt, 1 h, 87%

5) .
X BPIN Hoveyda-Grubbs 2nd cat,
toluene, 80 °C, 2 h, 98% PMBO
1) Pd(PPhg),, K3PO,4, THF, 65 °C, 6 h, 50% HO TBSO
OH 2) 0-NBSH, Et3N, DCM, rt, 30 h, 84% BnO 7 mOH
A+ /N OPMB >
Br™ ™o : 3) CSA, MeOH, rt, 12 h, then m-CPBA, 0
OH OTBS then CSA, DCM, rt, 18 h, 51%
OPMB
; .
0-NBSH: o-Nitrobenzene- —_—
sulfonylhydrazide
NO, :
i :SOZNHNHZ
' C9-C25 Fragment of spirastrellolide B
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OTIPS
7 W(CO)s (10 mol%) TIPSO ,
EtsN (1 equiv.), hv N N SiMe,Ph
l SiMe,Ph >
toluene, MS4A OPMB
N 87% (A:B = 10:1)
OPMB _ A B
single stereocisomer
4 T\

1. TBAF (1.5 equiv.)
AcOH (1.75 equiv.)
THF, 0 °C, 70%
QriPS 2. Meli, Et,0, -78 °C
then DME, rt, 58%

Y

3. TBAF, THF
then H202, KHC03
A MeOH, 60 °C, 84% c _ ifoli
- integrifolin
(containing B) L )

Q1: Explain the mechanism to give A and B from the starting silyl enol ether.
(A was obtained as a single stereoisomer. Why ?)

Q2: Explain the synthetic scheme from A to C
(You should mention the role of DME in 2nd step.)
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